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Time: S0 Minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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75 = 15=7

16 X 30 =7

337 X 23 =7

756 + 28 =7

(128 X 23) + (23 X 872)=?

36 X 21 X 25=7

936 ~ 12 + 13 =7

296 + 666 = 74 =7

990 — 774 ~ 18 X 17 =7

24 X (512 + 32+ 101)=7?

(4132 -3988) X 34 +~ 12 =7

516 — 126 ~ (21 — 18) =2
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For questions 13 to 15, the answers must be expressed in proper
fraction, integer or mixed number.

BE 13 EZ 158, ERXRLAUESTH. BEHIFTHRT.

18 24 12
+=—=——=9 0
B 55725 55 [17]
1 .3 5
14) 6= -2=+1==7 1°
) 6 -2+l [1%]
5 .7
15) 8-2-2-=" [1%]
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16) Fill in the blank with >, ‘<’ or =’. [2%]

EMMNELE (> - <] [=].

1
9 | —
0.03 | ¢ 30
17) Find the Highest Common Factor of 36 and 48. [2.1%]
K 36 148 HERKAEE.
18) Find the Least Common Multiple of 14, 21 and 30. [2.2%]

K 14 . 21 130 BIm/VaMEEL.,
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19) The figure below shows the relationships among the [2.3%]
quadrilaterals. Fill in the blank.

TERTHEBEZEHNRG. EEEGHER

FATEER

Parallelograms

=z

Rhombuses

RAH

Rectangles
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20) Each egg is sold at a price of $7. Each box has a dozen [2.4%]
eggs. How much do 24 boxes of eggs cost in dollars?

BEENEER T T. BEE—I1TE. FE 24 &%
HNEEBEEZIDT?

21) Reduce % to 1ts simplest form. [2.5%]

91
— HEEE
*E 112 II\,JEH'-I-FE% o

22) The capacities of a pot and a glass are 4 L and 280 mL [2.6%]
respectively. If 4 full glasses of water are poured into the
pot, how many more millilitres of water are needed to fill
up the pot?

— AN —ERBANTE DRI 4 F K 280 EF-
HLEWR 4 MHIEMAIKEINGRS , EFEZD=E
HI7K 7 22 imitb $8 2
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23)  The bar chart below shows the number of cakes sold in a [2.7%]
bakery in a year.

UTBEERTEMeE—FEHNERNE.

5
3
[
o
3 —
E e IEEE—
=)
Z I |
e — —
ﬁ; I IE—
I — Fla
v =) B R =R &
Chocolate Strawberry  Fruits Mango Cookie
A&k Flavour

Given that the number of chocolate cakes sold was 250 less
than the total number of fruit cakes and mango cakes sold.
Each unit of the vertical axis represents  ?  cakes.

E'.%ﬂﬁiﬁjl HRHEE ERERMTREREAEH
£/ 250 8. EEBEEENE—HBAR_?_ EASEH.
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24) If the 5-digit number 460A2 is divisible by 3 and its [2.8%]
thousands digit is smaller than A, find the value of A.

MR FHAIET460A2 AT L 3 2P, METFAIEULE AN,
kA HIEUE.

25) Jason is facing north-west. Joanne and he are back facing [2.9%]
each other. Jason first walks 20 m forwards, then turns left
and walks 60 m forwards. Joanne walks 40 m forwards at
the same time. Joanne is to the ? of Jason.

MERE R BT, MEEMEHZHT. DNEERE
AT 20 K, ARERERMBHZFHRITO0 K. FE—F
El/NEE BT 40 K. NEENFER_? A
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26)  Alice has 163 candies. Bowie has 15 more candies than ~ [3.0%]

Alice. If each gift box can pack 12 candies, at least how
many gift boxes are needed to pack all the candies of
Alice and Bowie?

INEH 163 EER., BERIL/NES 1S EER. 28
EEyEaE 12 FER, ROEEZ/MEEYEL
oEREE RN ERER?

27)

A teacher had 372 coloured pens and 652 pencils originally. [3.1%]
She bought 132 pencils and 510 coloured pens more, and
then gave all the pencils to 42 students evenly. Finally,
there were 28 pencils left. How many pencils did each

student receive?

ZEIRARF 372 HEEREM 652 HifE. WEET
132 #EREEF 510 MR E, RESETLETY
HmA2AIEE. RERT 28 KIRE. ESAEZSE
BSRE D 2
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28) A rectangle can be cut into two squares with equal size. If [3.2%]
the perimeter of the rectangle is 384 cm, the area of a square
is ? cm?.
—ERAEALUIARMREXNMIRMELGT. &
FRMARE 384 BX, —EEFHHERS 2 T
HEX.

29) ]hwmmﬂﬁmﬂmdammﬂem3d@&[ﬂwﬁmﬂmdf%of [3.3%]

the puzzle on the first day and 1l8 of it on the last day, what
fraction of the puzzle did Raymond finish on the second
day? Give the answer in its simplest form.

EXH 3 BERT—IEHE. HhESE—HTHRHE

# 158 , TS — H R E 178

, BEXE=HTE

R ERN& D 24?7 ERVENERHY.
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30) N is a 3-digit number. It is divisible by 3, 5 and 7. How [3.4%]
many possible values of N are there?

NE—E=f2. EFTA#H 3. 57 ER. NVEIATHEE
BEEZME?

31) Find the value of 17 X 115+ 34 x 25+ 68 x 19 — 85 x 48. [4%]

K 17x115+34x25+68 x 1985 x 48 HIH .

P10
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32) Peter has 40 black bags and white bags in total. Each [4.1%]
black bag has 6 marbles. Each white bag has 4 marbles. If
Peter has 208 marbles in total, there are ? more black
bags than white bags.

IMEEEBRANAREHE40HE. BEEERE6HE
EF. SEARR ﬁ4ﬁﬁ¥ HMEAEEF 208 FE
EF, ZEagkARRE 2 A.

33) The letters A and B represent 2 different 1-digit numbers. [4.2%]
Find the value of A + B.

MREXFH AMBRERMEASNBRN—AE, K
A+ B HIEE.

B
A 1 B

P11
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34) How many quadrilaterals are there in the figure below? [4.3%]

AT B &£8 % DMEMmiER?

35) A rhombus is formed by merging 8 identical equilateral [4.4%]
triangles. If the sum of the perimeters of all triangles is
120 cm, what 1s the perimeter of the rhombus in cm?

—{EZER 2 h S EEFNFE=MMMAER. WRA
BZATHNAREMR 120 X, EXHNERES
{L\E\I?

P12
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36) Find the value of the 10" term of the following sequence.  [4.5%]

KELTEFIE 10 THERIME.

100, 102, 105, 110, 117, 128, ...

37) There were several players playing with a deck of cards. If ~ [4.6%]
every player got 12 cards, there were 13 cards left in the
deck. If every player got 15 cards, 5 more cards were
needed. How many cards were there in the deck originally?

#KEZMRA—AEFEMER. E7AERMK 12 R
W, RAEAERT 13RE. E7AERIMK 15 5RE
AIFES 5 RE. MHERETEZDIRME?

P13




38)
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In the figure below, 4 squares with side length of 12 cm
are overlapped to form a square. If the total area of the
unshaded parts is 256 cm?, what is perimeter of the
shaded part in cm?

TESF, 4 @iERRE 12 F%IéH’JIEHﬁ/E 2 E—RE
El—ELEAF. EEZAFBTHEER 2%$HF*,
é%ﬁ\mﬂﬁmghg”?

[4.7%]

P14
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39) Nis a 3-digit integer. When N is divided by 2, 3, 4, 5 and [4.8%]
6, the remainders are 1, 2, 3, 4 and 5 respectively. What is
the largest possible value of N?

NE—E={fEH. ENBIL2. 3. 4. 5F16 B,
#BEOMNB 1. 2. 3. 4F5. NHRKTEERES

7

40) David uses a string to make a rectangle. Its length is 4 [4.9%]
times its width. If he uses the same string to make a
square, the area will increase 81 cm?. What is the area of
the rectangle in the beginning?

NRRAAEBR—ERAT. ERNREEAN4E. &
WA B —EMAE MR —EIEST, mEEEM
81 FHEK. RATHEREA=ZZ DEFEX?

End of paper
£ET

P15
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